Club Car DS Nerf Bars Only & Nerf Bars W/ — e
Diamond Plate Inlays UH'I({E"S =
Installation Instructions 2o~ LINONITS o o=
Nerf Bars Only Black-Part# 5125, Stainless-Part# 28379

W/ D.P. Inlays Black- Part# 29076, Stainless-Part# 28343

Hardware Kit , ‘
- 5/16" locknuts

> -

4

4- 5/16" washers

4-5/16 x 1 button heads

6- ¥4 x % button heads (for DP inlay models only)

6- 1/4” washers (for DP inlay models only) —

6- 1/4” lock nuts (for DP inlay models only) .

2-Diamond Plate Inlays (for DP inlay models only) AA&”@‘ wxay a/’lb’wpm
ey pw&cﬁm/

Installation Instructions:

1. Back off the four self tapping screws from the rear of Fugure 18
the rockers car as shown on Figure 1. There are two
screws on each end of the rocker. Remove the stock
rubber rocker covers.

2. Measure 32 % from the center of the rear stock
rocker hole and make a mark as shown in Figure 2.
Using a 3/8” drill bit, drill a hole where you made
your mark on the rocker. On some models the stock
rear hole may need enlarged to 3/8”. NOTE: Make
sure when drilling and enlarging the stock holes
you do not the fuel cell, fuel lines, electrical lines
or the stock air box.

3. Using the supplied 3/8 x 1 button head bolts,
washers, & locknuts install the nerf bars the car as
shown in Figure 3.

4. Re-install the stock rocker covers at this time using
the stock self tapping screws.

5. If you purchased the nerf bars with diamond plate
inlays, install the inlays at this time using the SR Vo
supplied ¥4 x %1 button head bolts, washers, & v Measure 32 3/4” from center
locknuts as shown in Figure 4. Bf-At00% '::f:r'i‘l‘l’ifga“" e

6. Repeat steps 1-5 for the other side of the car.

Self Tapping
Screws

Figure 3 5/16 x 1 (OTT b

- w/ washer —— ——

©

"1/4 x 3/4
w/ washers
: under diamond plate

S - S ——
Sari H'K‘E“S
A < T w'rs

866-405-253 7
www.jakesliftkits.com




